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2023.1.1 WS-01-2016 .2 6-9 - =5 2 7.9 =45 7 5 =400 | £ 3569 | =10000| £ 185 =500 2
WS-01-2016 / 6-9 = =5 b / =45 i / =400 . / = 10000 = / =500 =
itk O / / 3
2023.1.2 WS-01-2016 7.2 69 £ 0.3 =5 2 12.8 =45 = 88 =400 2 2234 | =10000] £ 150 =500 2
WS-01-2016 / 6-9 b / =5 oo / =45 = / =400 = / =10000 2 Vi =500 =
#EAD 9.8 481.2 _ 985
2023.1.3 WS-01-2016 6.8 69 2 0.7 =5 7 7 =45 B 11 =400 2 2004 | =10000] & 140 =500 =
WS-01-2016 7.1 6-9 2 0.5 =5 2 6.2 =45 2 82 =400 7 2219 | =10000] & 269 =500 7
kO / / /
2023.1.4 WS-01-2016 7.8 6-9 = 1.4 =5 = 8 =45 2 92 =400 2 2149 | =10000f & 120 =500 =
WS-01-2016 / 6-9 7 / =5 - / =45 2 / =400 2 / =10000| & / =500 £
#AKO / / /
2023.1.5 WS—01-2016 / 6-9 = / =5 i / =45 P / =400 7= / =10000 B Z =500 =
WS-01-2016 / 6-9 i / =5 = / =45 i / =400 = / = 10000 = / =500 2
A0 8.6 552. 3 1215
2023.1.6 WS-01-2016 / 6-9 b / = s / =45 b / =400 = / =10000| & / =500 P
WS-01-2016 / 6-9 o / =5 b / =45 & / =400 2 / =10000| & / =500 2
AR O 8.4 569. 2 1506
2023.1.7 WS-01-2016 7.4 6-9 7 1.4 s5 2 6.3 =45 = 83 =400 = 1898 | =10000| #& 161 =500 2
WS-01-2016 / 6-9 2 / =5 o / =45 7 / =400 p-od / =10000| & / =500 7=
k0 8.2 623.6 738
2023.1.8 WS-01-2016 7.4 6-9 £ 1.7 = 7 8.3 =45 £ | 86 =400 2 1786 | =10000| & 192 =500 £
WS-01-2016 7.3 6-9 = 3.4 S5 = 8.5 =45 7 71 =400 2 2240 | =10000| £ 182 =500 £
itk 0 / / /
2023.1.9 WS-01-2016 7.4 6-9 = 2.6 = £ 22.6 =45 2 81 =400 | B 1596 | =10000| & | 240 =500 2
WS-01-2016 7.2 6-9 J& 3.5 =5 & 6.3 =45 s 91 =400 B 1966 | =10000| & 327 =500 2|
kO 8.2 375.4 91
2023.1.10 WS-01-2016 7.3 6-9 2 3.4 = & 12.7 =45 o 74 =400 £ | 2185 | =10000 2 193 =500 [ &
WS-01-2016 / 6-9 2 / =5 i / =45 / =400 | B / =10000 & / =500 2
iz, as) 8.2 168.9 647
2023.1.11 WS-01-2016 7.4 6-9 Z 1.3 = 5 4.7 =45 & 84 =400 2 1841 | =10000 2 141 =500 B
WS-01-2016 / 6-9 = / =5 I / =45 s / =400 £ / = 10000 i / =500 5
itk 0 / £ /
2023.1.12 WS-01-2016 1.8 6-9 2 L =5 [ 17 =45 It 96 =400 2 1458 | =10000) & 163 =500 B
WS-01-2016 7.2 6-9 2 0.3 =5 J 10.9 =45 7 96 =400 £ 1906 | =10000) & 136 =500 L
itk O / / /
2023.1.13 WS—01-2016 7.3 6-9 # 1.5 =5 J 12.4 =45 2 9l =400 i 1567 | =10000] A& 106 =500 2
| ¥S-01-2016 7.3 6-9 # 1.9 =5 f 13.3 | =45 J& 89 400 | R 1442 | 510000 & 177 1 =500 £
| 71248 / / 7
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WS-01-2016 =5 i 12.2 s45 | R 83 =400 £ 1624 | s10000] R 249 =500 it
WS-01-2016 : =5 i / =45 2 / =400 J . / =10000]| A& / =500 &
HAO 481
2023.1.15 WS-01-2016 =5 b3 11.4 =45 A 96 =400 R 1657 | =10000 B 125 =500 R
¥S-01-2016 =5 pid / =45 J / =400 J / = 10000 R / =500 7=
#AO 7
2023.1.16 WS-01-2016 =5 R 10.9 =45 ;i 95 =400 £ 1535 | s10000| & 199 =500 2
¥5-01-2016 =5 3 / =45 2 / =400 B / = 10000 7 T =500 2
#AD /
2023.1.17 ¥S-01-2016 7.4 6-9 £ 0.8 =5 B 8.7 =45 o 84 =400 2 1870 | =10000 2 207 =500 i
wS-01-2016 / 6-9 2 / =5 2 / =45 o / =400 Xz / = 10000 £ / =500 B
kO / / /
2023.1.18 ¥S-01-2016 7.2 6-9 . 0.8 =5 2 7 =45 90 =400 [ 2034 | =10000 & 186 =500 e
WS-01-2016 / 6-9 2 / =5 = / =45 7 7 =400 £ / = 10000 E / =500 £
A0 / / /
2023.1.19 ¥S-01-2016 7.4 6-9 7 _0.7 =5 i 8.9 =45 B 82 =400 B 1495 | =10000 2 187 =500 72
¥S—01-2016 .5 69 iz _0.9 =5 P 2.5 =45 | R 71 =400 R | 841 | =10000 2 32 =500 i
#AO / i /
2023.1.20 WS-01-2016 1.7 69 = 0.5 =5 = 9.3 =45 i 74 =400 i 2012 | =10000 204 =500 [
WS-01-2016 / 69 = / =5 13 / =45 2 / =400 2 / = 10000 2 / =500 7
A0 4 / /
2023.1.21 ¥S—-01-2016 7.4 6-9 £ | kM| =5 7 5.2 =45 R 66 =400 2 1864 | s10000| # 238 =500 [
WS—01-2016 / 69 7 / =5 2 / =45 i / =400 & / = 10000 it / =500 £
RO 4 / /
2023.1.22 Ws-01-2016 7.1 6-9 i 0.5 =5 2 4.4 =45 = 85 =400 R 2014 | 10000 £ 164 =500 &
WS-01-2016 7.1 6-9 . 1.3 = 2 7.4 =45 £ 76 =400 2 1880 | =10000 [ 152 =500 #t
#AKO / / ;
2023.1.23 WS-01-2016 7.6 69 7 FHEH =5 ol 2.3 =45 i 63 =400 £ 128 = 10000 & 32 =500 Ik
WS-01-2016 / 6-9 £ Il =5 P / =45 2 7 =400 7 / = 10000 & / =500 2
i 48 / / /
2023.1. 24 WS-01-2016 7 6-9 2 0.5 =5 i 7.8 =45 2 84 400 & 1587 | =10000 [ 286 =500 2
WS-01-2016 / 6-9 & / =5 i / =45 o / =400 2 / S 10000 3 / =500 i
A0 / / /
2023.1.25 WS-01-2016 7.3 6-9 s Xtoth | =5 o 8 =45 F 88 400 g 976 | s10000] # 49 =500 i3
WS-01-2016 / 6-9 s / =5 2 / =45 | & / =400 & / =10000 2 / =500 R
iig 48] / / /
2023. 1. 26 WS-01-2016 1.5 6-9 7 A K H =5 it 5 =45 R RYI =400 & 280 | =10000] & 32 | =500 £
WS-01-2016 '3 6-9 i / =5 i / =45 K / =400 & / = 10000 ® / =500 i
KO / / /
2023.1.27 WS-01-2016 7.6 6-9 i Aty =5 Ji 1,6 =45 i 48 =400 4 303 | sl0000] & 21 =500 =2
WS-01-2016 7.4 6-9 J2 Aty =5 | # b.6 =45 .8 39 =400 B 249 | 5100000 & 24 =500 2
i g4 8] / / /
2023.1.28 WS-01-2016 1.5 6-9 s Aty S6 Jik 5.1 =46 B 88 S 400 B 247 = 10000 B K | S500 2
WS-01-2016 / 6-9 3 / S5 Jit / s45 | K / =400 [ / =10000| & / =500 2
K0 / / / ,
2023.1.29 ¥S-01-2016 7 6-9 I AHg | =5 Jt 5. 4 S45 1 12 400 & 177__] s10000{ £ 54 =500 =

&2 0000 OO0
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9 2 FAW =5 i 2 =45 | R 78 =400 2 688 | =10000] 7 =500 2

4 430. 4 577
2023. 1. 30 4 2 EX = =3 3.4 =145 2 63 =400 £ 569 | =10000| R 52 =500 £
7 7 FHH =5 B 2.5 =45 # 68 =400 F 729 = 10000 B2 73 =500 i=

s / /
2023. 1. 31 4 7.9 ey S =5 7 3.8 =45 £ 50 =400 = 350 | =10000| & Efa | =500 7
¥S—01-2036 ' A KT 7 B9 2 1.1 = A 14,6 =45 2 48 =400 -3 191 | =10000 a2 71 =500 =

. /=TS, wsm_ww i/
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